

SENT	ON:
------	-----

RECIPIENT:

Chris Johnson

111 East Maple Avenue Independence, Missouri 64050

Customer Name: City of Independence, MO Job Title: Independence, MO Animal Shelter 5700 Merriam Drive Merriam, Kansas 66203

Phone: (913) 962-8083

Email: kreinoehl@etikc.com Website: www.etikc.com

PRODUCT / SERVICE	DESCRIPTION	QTY.	UNIT PRICE	TOTAL
AXIS P3719-PLE	AXIS P3719-PLE Network Camera is a compact 15-megapixel camera with four varifocal lenses (4 x Quad HD) enabling overview and detailed surveillance. With one IP address and one network cable, the four-cameras-in-one unit provides a flexible, cost-effective solution for multidirectional surveillance. 360 IR illumination, WDR and Lightfinder technology provides excellent video quality in any light conditions. Each camera head can be individually positioned (pan, tilt, roll, and twist) along a circular track. Remote zoom and focus makes it easy to install and the clear cover, with no sharp edges, ensures undistorted views in all directions. The camera has an integrated weathershield.	2	\$1,359.15	\$2,718.30
AXIS P3807-PVE	Product version for the American market. AXIS P3807-PVE Network Camera is a fixed dome camera with multiple sensors, providing an easy, reliable and cost-efficient one-camera installation reducing installation time, cabling and VMS license costs. Thanks to its excellent image sensors, along with Forensic WDR and Lightfinder technology, it provides great video quality in any light conditions. Its four sensors give a seamless 180 panoramic overview, at up to 30 fps in 8 MP resolution. The camera is easy to install as recessed, flush, pendant, back-to-back, and comes with adjustable pre-set camera positions. Seamlessly stitched images 180 horizontal and 90 vertical coverage 8 MP resolution at full frame rate Axis Lightfinder and Forensic WDR Axis Zipstream for reduced bandwidth and storage needs	1	\$1,146.65	\$1,146.65



SENT ON:

PRODUCT / SERVICE	DESCRIPTION	QTY.	UNIT PRICE	TOTAL
GENETEC SharpV 850nm License Plate Reader	AU-K-V-WS850-LC-000	1	\$4,000.00	\$4,000.00
(White)	White AutoVu™ SharpV Camera Kit which includes: SharpV Dual motorized lenses (LPR and Context) with 850nm illuminator, mounting bracket and Sharp Camera Connection (24Vdc or PoE++802.3bt Type 3 required).			
RW-2058-4100	Radwin RW-2058-4100 is a carrier-class radio that belongs to the RADWIN 2000 C-Plus Series and supports 4.9 to 5.8 GHz frequency range.	8	\$700.00	\$5,600.00
AXIS T91B67 POLE MOUNT 65-165MM	Outdoor-ready, powder-coated aluminum pole mount with 1.5" NPS thread for fixed dome pendant kits. Includes insect-proof cable gasket and 1 pair of stainless steel straps (with TX30 screw) for pole diameter between 65-165mm (2.5"-6.5"). White in color.	2	\$80.75	\$161.50
AXIS T94N01D PENDANT KIT	AXIS T94N01D Pendant Kit comprises a weathershield and a mounting adapter for AXIS P3717-PLE Network Camera. The mounting adapter is compatible with 1.5-inch NPS thread. The kit enables AXIS P3717-PLE to be mounted on walls, poles, parapets and outer corners using AXIS T91 mounting accessories.	2	\$75.65	\$151.30
AXIS T91B47 100-410MM	AXIS T91B47 Pole Mount for indoor and outdoor installations, for poles with diameter between 100-410 mm (4"-16). Includes 1 pair of AXIS Stainless Steel Straps 1450mm (57") with TX30 screw interface for ease-of-installation. AXIS T91B47 is directly compatible with a wide range of Axis cameras.	1	\$72.25	\$72.25
AXIS 30 W MIDSPAN AC/DC	AXIS 30 W Midspan AC/DC is ideal for installations where mains power is not an option. By means of either 10-28 V DC or 24 V AC power input the midspan can provide up to IEEE 802.3at (30 W) to a network device. AXIS 30W Midspan AC/DC 24 V is plug-and-play and offers a wide compatibility with AXIS products.	2	\$84.15	\$168.30
Stahlin J1407HPL	14 x 7 x 6 Inches Fiberglass Enclosure, Opaque Cover, Hinged, Padlock Latches	3	\$300.00	\$900.00
Cat6 Outdoor Armored Network Cable	Cost per foot.	600	\$0.45	\$270.00
Photocell Power Tap	120 V Photocell Power Adapter Tap for Streetlight	3	\$125.00	\$375.00



SENT ON:

PRODUCT / SERVICE	DESCRIPTION	QTY.	UNIT PRICE	TOTAL
Transtector TSJ 10/100	Data Surge Protector SPD TSJ Indoor 10/100 Base-T Ethernet Shielded RJ45 GDT, TBU, UL 497B	4	\$120.00	\$480.00
Transition Networks SISPM1040-582-LRT (power supply included)	Managed Hardened Gigabit Ethernet PoE++ Switch (8) 10/100/1000Base-T PoE++ Ports + (2) 100/1000Base-X SFP Slots	1	\$1,450.00	\$1,450.00
GSC-OM-E-1C	Genetec - 1 camera connection	4	\$200.00	\$800.00
ADV-CAM-E-1M	Genetec [™] Advantage for 1 Omnicast [™] Enterprise Camera – 1 month	20	\$3.40	\$68.00
ADV-CAM-E-2Y	Genetec [™] Advantage for 1 Omnicast [™] Enterprise Camera – 2 years	4	\$73.60	\$294.40
Bucket Truck	Hourly labor charge for hardware installation requiring two men and a bucket truck.	16	\$250.00	\$4,000.00
Configuration	Hourly labor charge for software & network configuration.	7	\$130.00	\$910.00
Manufacturing	Hourly labor to assemble required components.	4.5	\$97.00	\$436.50
AXIS I8016-LVE	AXIS I8016-LVE Network Video Intercom is a compact and highly robust network intercom for two-way communication, video and remote entry control. with exceptional audio quality, including echo and noise cancellation, and a 5MP camera with invisible IR night vision and 140 FOV, the unit offers reliable 24/7 identification and remote entry control also in the most demanding situations. Based on open IP standards and interfaces such as ONVIF, PoE and SIP, AXIS I8016-LVE Network Video Intercom offers great integration possibilities and is a perfect complement to any video surveillance system.	2	\$934.15	\$1,868.30
AXIS A9801 SECURITY RELAY	AXIS A9801 Security relay box offer an easy and cost efficient way to improve security for doors controlled by an Axis network video door station. The product bridges the connection between door station and door lock and is placed on the secure side of the door. If an intruder attempt to tamper with the door station to access the door lock wires, AXIS A9801 Security relay will cut the connection and ensure that the door remains securely locked.	2	\$101.15	\$202.30



SENT ON:

PRODUCT / SERVICE	DESCRIPTION	QTY.	UNIT PRICE	TOTAL
HES 5200C-630-LBM	5200 Series Electric Strike with LBM For Latchbolt Locks, 12 or 24 volt, 630 Satin Stainless Steel, Latchbolt Monitor	2	\$114.00	\$228.00
ALTRONIX AL600ULM	Access Power Distribution Module w/ Power Supply/Charger, 5 PTC Class 2 Outputs, 12/24VDC @ 6A, FAI, 115VAC, BC300 Enclosure	1	\$288.00	\$288.00
Cat6E Plenum Network Cable	23 AWG, 4 Pair, Category 6 Enhanced 550 MHz Plenum, Orange	300	\$0.41	\$123.00
2 Conductor - 18 AWG (18-2) Plenum Cable White	2 Conductor - 18 AWG (18-2) Plenum Cable White	300	\$0.40	\$120.00
GSC-OM-E-1C	Genetec - 1 camera connection	2	\$200.00	\$400.00
ADV-CAM-E-5Y	Genetec™ Advantage for 1 Omnicast™ Enterprise Camera – 5 years	2	\$143.20	\$286.40
AXIS COMPANION	No Charge	1	\$0.00	\$0.00
PROFESSIONAL INSTALLATION	Hourly labor charge for cable & hardware installation.	12	\$97.00	\$1,164.00
PROFESSIONAL SERVICES	Hourly labor charge for software & network configuration.	2	\$130.00	\$260.00

Total

\$28,942.20

Scope of Work:

Electronic Technology, Inc. will install two (2) Axis P3719-PLE 360 degree cameras (north and west parking lots) on existing poles with continuous power provided by the buyer.

ETI will install one (1) Axis P3807-PLVE 180 degree dome (south parking lot) on an existing pole with continuous power provided by the buyer.

ETI will install a Genetec SharpV ALPR license plate reader on a pole at the facility entrance to read outgoing traffic. The reader will be installed on an existing pole with continuous power provided by the buyer.



SENT ON:		

Notes Continued...

ETI was not able to complete a site visit relative to the addition of the I8016-LVEs, related peripherals and labor to this quote. ETI would like to visit this location to ensure that this quote meets the needs of the customer and that our quoted costs will be sufficient to deliver a quality system.

ETI will configure (FOV, focus, etc.) all cameras to the satisfaction of the City of Independence.

All Axis Communications cameras include a 5-year warranty.

Pricing is based on MARC EVP2286 Contract.

Quote valid for 30 days. Tax is not included. NET 30 Terms.

Signature:	 Date:	_